


№ 13.5(а,б)

· (- 3)

– 3х + 9у = – 15  
3х + 2у = 4 +

11у = – 11  
у = – 1  х – 3 · (– 1)  = 5

х + 3 = 5
х = 5 – 3 
х = 2 

Ответ:  (2; – 1)



№ 13.5(а,б)

· 5

15х + 5у = 5  
2х – 5у = – 22  +

17х = – 17  
х = – 1  3 · (– 1) + у = 1

– 3 + у = 1
у = 1 + 3 
у = 4 

Ответ:  (– 1; 4)



№ 13.6(а,б)

· 5

5х + 5у = 20  
4х – 5у = 7  +

9х = 27  
х = 3  3 + у = 4

у = 4 – 3 

у = 1 

Ответ:  (3; 1)



№ 13.6(а,б)

· (- 5)

– 5х + 5у = – 30  
5х – 2у = – 3  +

3у = – 33  
у = – 11  х – (– 11) = 6

х + 11 = 6
х = 6 – 11 
х = – 5 

Ответ:  (– 5; – 11)



№ 13.7(а,б)

· (- 2)

40х + 3у = – 10  
– 40х + 14у = 10  +

17у = 0
у = 0 40х + 3 · 0 = – 10  

40х = – 10  
40 40

х = –   
Ответ: 



№ 13.7(а,б)

· (- 3)

– 15х – 6у = – 3  
15х + 3у = 3   +

– 3у = 0
у = 0 5х + 2 · 0 = 1  

5х = 1  
5 5

х =   

Ответ: 



№ 13.8

· 3
· 7

9х + 21у = 138   
28х – 21у = 84  +

37х = 222  
х = 6  

3 · 6 + 7у = 46
18 + 7у = 46
7у = 46 – 18  

7у = 28  

Ответ:  (6; 4)
у = 4  



№ 13.8

· 5
· 3

– 15х + 20у = 120   
15х + 9у = – 120   +

29у = 0  
у = 0  5х + 3 · 0 = – 40 

5х = – 40  

Ответ:  (– 8; 0)

х = – 8  



*

К л а с с н а я    р а б о т а.

Метод алгебраического 
сложения. 

*

К л а с с н а я    р а б о т а.

Метод алгебраического 
сложения. 



№ 13.11(б)

· 15

· 5

5х   + 3у =  165  
3х   – 10у =  40  

· 10
· 3

50х + 30у = 1650  
9х – 30у = 120  

Закончите решение 
самостоятельно.

Ответ:  (30; 5)



№ 13.14(б)

y = kx + m

– 3 = k · 4 + m  
– 5 = k · 9 + m  

4k + m = – 3  
9k + m = – 5  

Закончите решение 
самостоятельно.

Ответ:  у = 



У: стр. 74   § 13

З: § 13  № 6 – 9(в,г).



Сб. Кузнецовой:

                  № 527 – 534 

                I – нечётные
                II – чётные 


